
𝑇𝐹 ℎ 𝑡  = TF cos 2𝜋𝑓0𝑡  ∗ 𝑇𝐹 𝑟𝑒𝑐𝑡𝑇 𝑡  ∗ 𝑇𝐹  𝛿 𝑡 − 𝑛𝑇𝑒  

∞

−∞

 

𝑇𝐹 ℎ 𝑡  =
1

2
 𝛿 𝑓 − 𝑓0 + 𝛿 𝑓 + 𝑓0  ∗  𝑇. 𝑠𝑖𝑛𝑐 𝜋𝑓𝑡 ∗  

1

𝑇𝑒
 𝛿+∞

−∞  𝑓 −
𝑛

𝑇𝑒
   

𝑇𝐹 ℎ 𝑡  =
T

2
 𝑠𝑖𝑛𝑐 𝜋 𝑓 − 𝑓0 𝑡 + 𝑠𝑖𝑛𝑐 𝜋 𝑓 + 𝑓0 𝑡  ∗  

1

2𝑇
 𝛿

+∞

−∞

 𝑓 −
𝑛

𝑇𝑒
  

𝑇𝐹 ℎ 𝑡  =
T

2 ∗ 2T
 𝑠𝑖𝑛𝑐 𝜋 𝑓 − 𝑓0 𝑡 + 𝑠𝑖𝑛𝑐 𝜋 𝑓 + 𝑓0 𝑡  ∗ 𝛿

+∞

−∞

 𝑓 −
𝑛

𝑇𝑒
  

𝑇𝐹 ℎ 𝑡  =
1

4
 𝑠𝑖𝑛𝑐 𝜋 𝑓 − 𝑓0 𝑡 + 𝑠𝑖𝑛𝑐 𝜋 𝑓 + 𝑓0 𝑡  ∗ 𝛿

+∞

−∞

 𝑓 −
𝑛

𝑇𝑒
  



TF cos 2𝜋𝑓0𝑡  =
1

2
 𝛿 𝑓 − 𝑓0 + 𝛿 𝑓 + 𝑓0   

 

𝑇𝐹 𝑟𝑒𝑐𝑡𝑇 𝑡  = 𝑇𝑠𝑖𝑛𝑐 𝜋𝑓𝑡  

Car : 

 𝑟𝑒𝑐𝑡𝑇 𝑡 = 𝑢  𝑡 +
𝑇

2
 − 𝑢  𝑡 −

𝑇

2
        et        𝑟𝑒𝑐𝑡𝑇′ 𝑡 = 𝛿  𝑡 +

𝑇

2
 − 𝛿  𝑡 −

𝑇

2
  

 2𝜋𝑗𝑓.𝑇𝐹 𝑟𝑒𝑐𝑡𝑇 𝑡  = 

𝑇𝐹  𝛿  𝑡 +
𝑇

2
  −  𝑇𝐹  𝛿  𝑡 −

𝑇

2
  =  𝑒−𝑗2𝜋𝑓

𝑇
2 − 𝑒𝑗2𝜋𝑓

𝑇
2 = 𝑒−𝑗𝜋𝑓𝑇 − 𝑒𝑗𝜋𝑓𝑇 = 2𝑗. sin 𝜋𝑓𝑇  

Donc :  𝑇𝐹 𝑟𝑒𝑐𝑡𝑇 𝑡  =
2𝑗.sin 𝜋𝑓𝑇 

2𝜋𝑗𝑓
=

sin 𝜋𝑓𝑇 

𝜋𝑓
=

T.sin 𝜋𝑓𝑇 

𝜋𝑓𝑇
= 𝑇. 𝑠𝑖𝑛𝑐 𝜋𝑓𝑡   

 

𝑇𝐹   𝛿 𝑡 − 𝑛𝑇𝑒  

∞

−∞

= 
1

𝑇𝑒
 𝛿

+∞

−∞

 𝑓 −
𝑛

𝑇𝑒
  


